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1. L{sinawr}= jo sinare ™ dt (s >0), L{cosar} = L cosare™Stdt (s >0) R X,

i rectangular laplace q
et — s cos(wet)+sin(w-t)-1i e " —
a+s
Gllewrt laplace 1 rectangular s L W n
s—w-li w? +5* W' 4+s”

2. . .
R 2. Y4 o gm0p=3 Doy RO E,

At dt dt
substitute ,y (0) =3
substitute , y’(O) =-2
sol’ue,Y(s)

5 1 tnvlaplace . et
y(t)::s -Y(s)—s-y(O)—y'(O)+4-(s-Y(s)—y(0))+3-Y(S)=— 3.e " —
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¢:=0,0.01..6

| Ey(t)+4'j_ty(t)+3°y(t)=l y’(0)=_2 y(0)=3

y := odesolve [’9‘ (t) ’ 5)

YIN- KRS HEE

1 y (t)
[} 1 2 3 4 € "
t
Bl 3. ROBESLH G TR Z R
dx r
—=Tx+y=0 - s—4
(‘jf [(s—T)X(s)+ ¥(s) =1 X = s
v < ‘ - -
z—lx—:\v:o 1—2_1(3)+(s-—5)1r(s-)=—1 ¥(s) = —5+9
¥(0) =1 y(0) =1 5 125437 t:=0,0.01..1
@) d
w| —uy(t)—2-z(t)-5-y(t)=0
o u)-2e()
£
| d
d—f:(t)—T-:c(t)+y(t]=D z(0)=1 y(0)=-1
t
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solve,Y (s)

$X(s)—1-7-X(5)+Y(s)=0 ——— > 7-X(s)—s-X(s)+1
substitute , Y(s) =7 -X(s) —s-X(s) +1
s-Y(s)+1—2-X(s)—5-Y(s)=0 5—37-X(s)+12-3-X(s)—s2 .
solve ,X(s) s—4 invlaplace
§—37-X(s)+12-5-X(s)—s>+X(s)—4=0 e’ '« (cos(t)+2-sin(
s? —12.5+37
substitute , X (s) = i
7.%(s) X(s)+1 s> —12+s+37 s—9 mvlaplace < 1. (cos () -3
. S)]—S- S|+ —\e COS .
s? —12.5+37
£:=0,0.01..2
Il)l]f‘
90+
80+
7.“:
0] —<eG't-(cos(t)—3-sin(t))>
101
20 €%t (cos(t) +2-sin(t))
ol | >

t
clear(s,z,y,t)
substitute :c(O):l
substitute y(O):—
§0l1;e,EX( s) Y(s)]
| (s:X(s)=2(0))-7-X(s)+Y(s)=0 | *mviapiace 5" (cos .sin(t)) —(e®*
f(t)= (s-Y(s) —y(0)) -2 ( )=5.Y(s)=0 [ (cos(t)+2 (1) (

x(t)::f(t)o—>66't-(cos(t)+2-sin(t)) y(t):=£(t) —>—<th (cos(t)—3-sin(t))>

1

L e (cos(t) ~3-5in (1))
( 1 2 3 1 5 6 7 8 9 10
\ eG't-(cos(t)+2-sin(t))

1-10%
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clear(s,z,y,t)

substitute ac(O):l
substitute y(0)=—
t?olz;e,EX( ) Y(s)]
| (5:X(s)=2(0))—1-X(s)+Y(s)=0 | *mvapiace e! (cos(t) +sin(t)) —(e* «(cos
=] e e [ «(cos (1) +sin(8)) ~(e" - (cos(
z(t) ::f(t)0—>et - (cos(t)+sin(t))
y(¢) ::f(t)1 — —(e' +(cos(t)—sin(t)))
B y(t)
t
| /A\ | :/N | /\\ | ) cos(t)+sin(t)
| | ':) 2 4 h N \/5 +sin (t + %)

/\ cos (t) —sin(t)

\/E-sin t+3.—7r)
4
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t
1
m—atan|—|=2.82
g
x1:—3 y1:0 x3::0 y3:1
0:=0,0.01..2.82 C(6):=\10.¢""*
cos(t)

+ + L2 + »
3 2 1 ) 1 2.001 3.001 4.001 Sin(t)

sinkcosDE Ak,

N-J5/5

08/01/2019

cos (t) +2.sin (t)

tratf)

12 +22 .sin

cos (t) —3-sin (t)

V1* +3° .sin(t+atan2(-3,1))

| trataf)

V 12 +3% .cos
atan2(—3,1)=2.82



